/N B F4X100mR

# N R

NBR 2y
FOEREAE N FTR

5H22H 16:20 J{hV—2

HALL—2R
NI F-h44 TN - B4 hr FrEd FrlE oEk aivh L V-V EAE
1 FriREFIKA 1 41 R #FE6) YU N BE  PTREFK 51.83 T 7 1
2 42 TH fF®6) v oaF O EBE PBTIREFK
3 43 D wEG) YT M BE O FTRESK
4 44 LHHUEE6)  Fh) avd BE  TRESK
2 FRva=7A 1| 57 Miff 9#6) [7h7 o< %Lt LRy =-—7 55 64 1 9 2
2 58 it BI6) T Favxy  EBE O ERYa2=7
3 59 EHH MUKES®6) v anpey ByE RERYa=7
4 60 BpH FEIr6)  Jh TS BE FRVa=7
3 BEMYa2=7A 1 25 UM YeEE(6) b VY Bk  BENMYa=7  56.20 1 5 3
2 26 slE K (6) VY anpg BE BNV a=7
3 27T gk HZE(6) ATx Vv BE ENMYa=7
4 28 W KF1(6)  Hhy ¥eh Bt BNYa=7
4 HLEEA 1 17 B~ +v6) 77 ¥ BE Lk E 56. 81 1 4 4
2 18 FHEF BEFN(6) v THD BE O ERLkEEE
3 19 RWE FAK®G) Hhyv vans BRE S R LFE L
4 20 FHOAR FEAG) 7Y Vb BE  ER LR E
5 AMAC 1 53 A FEKERG) ¥ v anjey HE  EAWAC 57.22 1 8 5
2 54 3 BH(6) Y3 an¥ BE AWAC
3 55 AR A6 TR vty BiE ABAC
4 56 R PE4h6)  ¥Aby avay R AMIAC
6 FRYa=7B 1 61 =y 4 (5) W N BE O FRYa2=7  58.17 2 6 1
2 62 &=H KE=E6) 744 MM* BE LRBRYa2=7
3 63 Z2iE B (5) AR EV] BE FRYa2=7
4 64 & E#t(6) N vk Bt  FRYa=7
7 JOYSTICK 1 15 [UA FEARER(5) YvEb 24wy BiE  JOYSTICK 58. 44 5 3 9
2 16 WY KB hve 7 BE JovsTICK
3 13 &H £56G) Wy vy #5E  JoYSTICK
4 14 B K G)  vuv vavy ¥iE JOYSTICK
8 BrIERE 1 9 #Z&H EHE(G) ) o BE  HERER 58. 94 1 3 6
2 10 HEW ODMEG) w7 F vo¥ BE HEED
3 12 il —gE () <p A77% BRE BiERER
4 11 mE BAe) 37 L BE  HERER
9 REA e LF=E 1 49 Pl BEFHG6)  ThYY A4b B E  fesdibe b#%E 58,97 2 9 3
2 50 ®HH B®6)  MA auxy BE seaikE b
3 51 HIR FEXKG6) Vit Vand BiE meemibe s
4 52 BHH BLAGB) Iy z4b HE  pedibe e
10 EMy==7B 1 29 &M E&G) 'y 2w HE FENY==7  59.22 2 5 4
2 30 #EH H#£G65) AU AYh BE ®EHNVa=7
3 31 B Bk (6) 4t oeeb BE ®hnva=7
4 32 =W kR 6) 744 ank BE BNV a=7
11 #EmERY==7A 1 33 JRME B G)  rive )7 Bk sEERC2=7  59.62 1 6 7
2 34 JEE B6) DEFAT AVF  ESTE bR ==7
3 35 BB EEG) WU s BE EmERa=7
4 36 =k F£46) T8 b BT mEBY =7
12 #fxlfE =B 1 24 [Lu@E BHKXG6) T34 tfh BE  ERLkEE 1:00.37 2 4 5
2 21 B HHE(5) 1) vauw BE B LpE R
3 23 IR BEKG6) 4V ok BEE ELRE R
4 22 Bl FHY(6) 2y vanf  EFE B e -
13 #HER =78 1 37 TN EEIK (6) AT vavh B E dmEEBY==7 1:06. 40 2 7 6
2 38 =& #F(6) AL BE  MmEGYa=7
3 39 [WF BY(6) Yo aunf EE EmERYa=7
4 40 AR FRARER(5) AVk 2kuny BE  EERY =7

JL5l DNS: %15



IINFEE F4X100mR
oM OE R B
ERTEAT N AR

5H22H 16:30 #{hV—2

2A LAV —R

JIEAT F-h 44 =0 -Fun - K4 W e fr @ Fodk aAvh M Vv FIR
I B ==7TA 25 /MK FIIE(S) 2 TYWW R By kE EiNY==7  57.01 2 4 1

26 gnA Mz (6)  ARF VF BE BENYa=7

27 KBk K (5) v BE BENYa=7

_ 28 &% [ (6) NNEE BE ENYa=7
2 PTIREFIEA AL IR Onn (B5) ATEF bhv Bt PriUETR 57. 50 2 6 2

42 5K B (6) AR X TYE Bl PR

43 A g592(5)  vUEb ARy Bk PTIRGETR

44 EE KOUR(6)  vAT 4T BE IR EER
3 HTEE[E A 9 AR E(6) AX* AF Bt HERED 57.52 I 5 1

A
%
VA bR BE %ﬁﬁié@%
i

1
2
3
4
1
2
3
4
1 — B
2 12 @R K (6) B
3 11 @E KFE.) e 7% BE O
4 10 yhig we)y(6)  Arvv %) Bk BTAELED
4T FEYa=7A 1 65 3k E5(5) FV Bt FREYa=7  571.67 T 3 2
2 66 K AAC(6)  ThA 2k ByE BERYVa=7
367 BRI KEG) iy vt HE LERYVa=T
4 68 AJI| pA(6) Th'y ka0h O HFE OO FRYa =7
5 FaxtrElbe 1 37 K¥ R (6) A4 vt BE  BaTmkEE 59.85 I 8 3
2 38 W EELE(6) 7% V)7 Bt Bk
339 Wl HAG) AF BE By L
4 40 B FZR(6) kv 7¥3 Bk Fepwmpe
6 sUAILIFE EA 1 17 faHF W& ®) AV Bt sua@kEE 100137 T 6 4
2 18 KRB APIG6) ¥ Faun BE Ak -
319 B TIR(6)  tX)F 2¥r iR AURILbE L
4 20 R 1 (6) Arh- PR By R AN LEE L
T EMY2=7B 1 29 HYF fan(6) I TT* Bt wiv=a=7 1:01.49 36 1
2 30 B #bk(5)  AX vy o EE ENYa=7
331 /M B H(5)  aVFE ' EiE ENYa=7
4 32 MW fHFEEG)  AFh W BE ENYa=7
8 FTEY==7B 1 69 HT fex() b 2 Bt LREYa=7 1:01.64 2 3 3
2 70 WM %% (B) v ok BE LEYVa=T
3 TL NI AEGB) Ay apr Bk bERYa=7
4 72 Ry EE(6) ks <y BE  FRYa=7
9 FEATilE FAEA 1 49 Fr () 7 M3 Br k  fepdibe L&A= 1:01. 75 1 2 5
2 bl 3Af BBETI6) ATV tT) BE femmke kA
3 50 WA B 4 F ag BE femdibe b#ER
4 52 EAR EME(6) At h- vk By R ek R
10 =H#AC 1 61 gAK dAK(6) A% F 743 Bk &WAC 1:01. 80 2 5 4
2 62 NH ERCG) v W Bk ESWAC
3 63 fExk MAK®G) HF b wE ESMAC
_ 4 64 JuA JEEZR() T vt BE FHIAC
11 8reElEth B 115 W 72o-(6) K1y JU3 BE R 1:01. 88 3 4 2
2 14 it EA(6) A Jva BE OHRERER
316 MEE BAE() 7Rk Uy BE HEERE
N 413 Ak PP 6) Y417 VY ek PERER
12 prGESEB 1 45 JH #(6) RIS BE  PUETR 1:02.79 3 7 3
2 AT o mRB) A T BE  PHREFK
3046 Ak EmGB) Wi W EWE O PRESR
4 48 #rit ZPRN(5) 794 apt BE  PGEER
13 FRINFE LB 1 21 =8 T=06) Wy f2x  &HE smIbELE 1:03.51 3 5 4
2 24 /@ HE(5) aph PRt EHE AUskE b
323 &k EMIL6) MY BE AUREE -
4 22 Bp png(6) )y Jauh sy R AUAR(LEE B
14 EEAMEEZR=EB 1 53 BN &£(6) I ¥ 74 Ik AesmbeEEE 1:03.77 2 2 5
2 54 KR MEEF(6) TV v hFa o By ek REE
3 55 Zurss KE(G6) v V) BE ek b=
4 56 /NI HRZE(6)  AYY Tat Bk fegdibe by
15 SEHEHY=2=7 1 33 K bEFG) MY 791 Brk  #mEBC==7 1:03.84 1 7 6
2 34 Pepk ZEGBG)  Fhy vy BE  EmEEmYa=7
3 35 /MR FEWG(5) vy h)y BE  EmERYa.=7
4 36 Yugy BEAK(6) A M BE  EmEmya=7
16 FEYV==7C 1 713 AL BEFG) tt Ff.) Bk FEEYV==7 1:03.92 3 3 5
2 14 B fmG) N7 EWmE O LRYVa=7
375 HA BKE®G) 7% tv) BE ERVa=T
4 76 fE ARG AP aft ik PRYa=7
17 mEndiE EE=C 1 57 AE BA&AG) Jh 2% BrE  fEshibEEEE 1:04.66 3 2 6
2 58 RE BHE(B) vV TV BE EE/ ke L #E
3 59 /AR EEAE() ANty b BE senibE b=
4 60 /NP BRIE()  A) EED BEE ek by
LbZiEEA DNS 1 4
LbZiEEB DNS 2 7

JL5l DNS: %15



